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(1) —M=Et BA)
2 5 FEIRE (M) IWAEEE (H) IRAZE (%)
(A) (B) (B).” (A)
1 HEERV 798,934,000 798,933,400 100.00
&i8% 1 HiE% 798,934,000 798,933,400 100.00
2 ERARD 20,000 191,700 958.50
FHH 1 FH 20,000 191,700 958.50
3 BEIRA 494,000 494,560 100.11
1 MEERRA 494,000 494,560 100.11
4 1@EE 21,111,000 21,111,309 100.00
1 @Bus 21,111,000 21,111,309 100.00
5 FENA 15,731,000 12,029,542 76.47
1 FE&A) 1,000 5,457 545.70
2 HEA 15,730,000 12,024,085 76.44
6 EEIHE 10,424,000 0 0.00
1 EEfDHe 10,424,000 0 0.00
mASE 846,714,000 832,760,511 98.35

(2) —msEt ()
2 5 FERE (M) AR (M) HITE (%)
(A) (B) (B).” (A)
1 ZRB 98,000 63,000 64.29
1 ZFoE 98,000 63,000 64.29
2 RBE 85,392,000 70,535,448 82.60
1 BHEEE 85,262,000 70,454,928 82.63
2 EARZEE 130,000 80,520 61.94
3 HBE 723,303,000 693,939,221 95.94
1 HBE 723,303,000 693,939,221 95.94
4 #HEXHE 36,921,000 36,921,000 100.00
1 5% 36,921,000 36,921,000 100.00
5 FlEE 1,000,000 0 0.00
1 FHE 1,000,000 0 0.00
mHAE 846,714,000 801,458,669 94.66
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SHFAER - RFRHHE 1,565.16 | 3lliEis 102.34
LANE 459.69 || HE 108.55
BENE 663.90 | ;ERIHEAT 15.00
=) HaRAT 476.61
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3  BHREISEEOINARTE (FER2 9FE) [FFr3 04383 1HIRE]
(Ef7 0 )
\ BY 1% BT 4 18 &
B B BT =
4 BHA 6 A A 9 AHA 12 B#A =t (A)
* & H 75,002,000 75,001,000 75,001,000 75,001,000 300,005,000
X 42 M7 74,604,000 74,604,000 74,604,000 74,604,000 298.416,000
R AT 43,561,000 43,559,000 43,559,000 43,559,000 174,238,000
=t 193,167,000 193,164,000 193,164,000 193,164,000 772,659,000
¥ Rk BT HBER Y 7e8ENBE (B) & & (A)+ (B)
x & HT 10,201,736 310,206,736
K 42 HT 10,147,677 308,563,677
EI{REVET 5,924,987 180,162,987
=t 26,274,400 798,933,400




